



नाम: _____

दिनांक: _____ स्कोर: _____

$$(3 + \frac{1}{2})^2 - \frac{1}{4} - \frac{1}{4} + 4^2 =$$

$$(\frac{1}{5} + (\frac{2}{5})^2) \times \frac{1}{6} - (\frac{1}{3} + \frac{1}{4})^2 =$$

$$(\frac{3}{4} - \frac{1}{4})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{1}{3})^2) =$$

$$(3 + \frac{1}{3})^2 - \frac{1}{4} - \frac{1}{5} + 4^2 =$$

$$((\frac{1}{6})^2 - \frac{2}{5}) \times \frac{1}{3} - (\frac{3}{2} - \frac{1}{3})^2 =$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{6} + (\frac{1}{3})^2) =$$

$$(\frac{1}{2} - (\frac{1}{6})^2) \times \frac{3}{2} + (\frac{2}{5} + \frac{1}{5})^2 =$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{3}{5}(\frac{1}{5} - \frac{1}{3}) =$$

$$(4 - \frac{1}{2})^2 + \frac{1}{2} - \frac{1}{3} \times 2^2 =$$

$$(\frac{3}{4} + \frac{1}{2})^2 - \frac{1}{2}(\frac{2}{5} + (\frac{1}{3})^2) =$$



पांच अंश, कोष्ठक के साथ संचालन का क्रम

नाम: _____

दिनांक: _____ स्कोर: _____

$$(3 + \frac{1}{2})^2 - \frac{1}{4} - \frac{1}{4} + 4^2 = \frac{111}{4} = 27\frac{3}{4}$$

$$(\frac{1}{5} + (\frac{2}{5})^2) \times \frac{1}{6} - (\frac{1}{3} + \frac{1}{4})^2 = (-\frac{1009}{3600})$$

$$(\frac{3}{4} - \frac{1}{4})^2 - \frac{2}{5}(\frac{1}{3} - (\frac{1}{3})^2) = \frac{29}{180}$$

$$(3 + \frac{1}{3})^2 - \frac{1}{4} - \frac{1}{5} + 4^2 = \frac{4799}{180} = 26\frac{119}{180}$$

$$((\frac{1}{6})^2 - \frac{2}{5}) \times \frac{1}{3} - (\frac{3}{2} - \frac{1}{3})^2 = (-\frac{401}{270}) = (-1\frac{131}{270})$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{6} + (\frac{1}{3})^2) = \frac{67}{450}$$

$$(\frac{1}{2} - (\frac{1}{6})^2) \times \frac{3}{2} + (\frac{2}{5} + \frac{1}{5})^2 = \frac{641}{600} = 1\frac{41}{600}$$

$$(\frac{1}{2} - \frac{3}{5})^2 + \frac{3}{5}(\frac{1}{5} - \frac{1}{3}) = (-\frac{7}{100})$$

$$(4 - \frac{1}{2})^2 + \frac{1}{2} - \frac{1}{3} \times 2^2 = \frac{137}{12} = 11\frac{5}{12}$$

$$(\frac{3}{4} + \frac{1}{2})^2 - \frac{1}{2}(\frac{2}{5} + (\frac{1}{3})^2) = \frac{941}{720} = 1\frac{221}{720}$$